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DFI6FE =it (MEILHRK) iRk (-10m) Ri%AIE

% L] Hg - BIRHE BfL g i = # wm oz
EZAEE 3, 807, 657
HEE 3,807,657 x 73.4% — 2,477 2,792, 343
HEEEE 3,807,657 + 2,792,343 6, 600, 000
PE 3T 6, 600, 000
HERSHNE 6, 600,000 x 10.00% 660, 000
HEXBE 6, 600, 000 + 660, 000 7, 260, 000




BEANRE AFI6LEFE = 5t (P55 AL ) HER (—10m) 52818

£ g - AKTiE B H =2 i & 8 m =

EZHEE 3, 807, 657
BEFEHE 3, 807, 657
TILFE—LBIR 3, 807, 657
TILFE—LBIR 3,652, 657
RIS XElE 471,419
1 B E% R 1.00 345,016 345,016

=
2 HEMIERR 2FEZY) 1.00 126, 403 126, 403

=
KiEH=E 1,471, 366
SEBETRXH 1.00 674, 431 674, 431

=
4 T ILFE—LARD AES 0.21 738, 836 155, 155

km2
5 TILFE—LAED &R 0.91 705, 253 641, 780
km2

BR 1,580, 872
6 FEEIER 1.00 1,580, 872 1,580, 872

=
& - e 129, 000
1 BRTRE 1.00 78, 150 78, 150

=l
8 | E 1.00 50, 850 50, 850

=l
EERE 155, 000
BR 110, 000




BEANRE AFI6LEFE = 5t (P55 AL ) HER (—10m) 52818

% R R& - WAKSTE BfL - B ' # m o=
CEZ: T 1.00 110, 000 110, 000
=
Z 0t 45, 000
10 fETRERE 1.00 45, 000 45,000
=




Rifiz -/ \v7r—o

HR6LF B = ith i (P I 0 X)) iR (—10m) TR RIE

&5 1
2 BEEERE =1
£ 7 R - BIRTE BARL #H = B Of € W E B &
BlEFEHED
A 2.00 54, 600. 00 109, 200
B S HER
A 3.00 47,100. 00 141, 300
B = H AR
A 2.00 36, 900. 00 73, 800
BIEBF
A 0.50 34, 600. 00 17, 300
AR L NOY
% 1.00 341, 600. 00 3,416
= 5 1YE%HeH - 1.00K 345, 016. 00 345,016
&5 :2
B BMERQEESZY) =1
£ 7 R - BIRTiE BAGL #H = B Of € W E B =
BIEHEE
A 2.00 25,900. 00 51,800
Sy 2tiE
B 2.50 29, 341. 00 73,352 4.70H / 8H
AR L NOY
% 1.00 125,152.00 1, 251
= 5 1YE%HeH - 1.00K 126, 403. 00 126, 403




Rifiz -/ \v7r—o

HR6LF B = ith i (P I 0 X)) iR (—10m) TR RIE

%5 :3
B BBETR b 1RXHY
% 5 R - AR R BAf = B {f £ W = &
REE S4 kY 2L
B 1.00 3, 553.00 3,553/2.00H / 8H
B2 F T HED
A 1.00 54, 600. 00 54, 600
B S HER
A 1.50 47,100. 00 70, 650
BB
A 1.50 36, 900. 00 55, 350
BIEBNF
A 1.00 34, 600. 00 34, 600
BIE M FRP D 70PSZE!
B 1.00 83, 361. 00 83, 361 8H
GNSS;BIf 2= & DGNSS
B 1.00 25, 740. 00 25,740
TILF E—LEERIEE 36~455kHz
B 1.00 339, 900. 00 339, 900
P PR 2EDY
% 1.00 667, 754. 00 6,677
= 5 1YE%HeH - 1.00K 674,431.00 674, 431




Rifiz -/ \v7r—o

HR6LF B = ith i (P I 0 X)) iR (—10m) TR RIE

E2=
B TILFE—LAED M 1H%Y (0.84km2)
%4 7 R - AR R BAf = B i & # W = B &

REE S4 kY 2L

B 1.00 3, 553.00 3,553/2.00H / 8H
B2/ FRP D 70PSZE!

B 1.00 83, 361. 00 83, 361 8H
S F EHEm

A 1.00 54, 600. 00 54, 600
B S HER

A 1.00 47,100. 00 47,100
BB

A 1.00 36, 900. 00 36, 900
BIEBNF

A 0.50 34, 600. 00 17, 300
GNSS;BIf 2= & DGNSS

B 1.00 25, 740. 00 25,740
TILFE—LEERE 36~455kHz

B 1.00 339, 900. 00 339, 900
P PR 2RD%

% 2.00 608, 454. 00 12,169
= 5 YEEREN : 0.84km2 738, 836. 00 620, 623




Rifiz -/ \v7r—o

HR6LF B = ith i (P I 0 X)) iR (—10m) TR RIE

55
& YILFE—LARQD #ERN 1TH&HY (0.88km2)
£ 7 R - KT By = B Of & | W E B &
TEE S4 kY 2L
B 1.00 3,553.00 3,553/2.00H / 8H
B FRP D 70PSZE!
B 1.00 83, 361. 00 83, 361 8H
BIEFEHED
A 1.00 54, 600. 00 54, 600
B S HER
A 1.00 47,100. 00 47,100
B = H AR
A 1.00 36, 900. 00 36, 900
BIEBNF
A 0.50 34, 600. 00 17, 300
GNSS;BIf 2= & DGNSS
B 1.00 25, 740. 00 25,740
TILF E—LEERIEE 36~455kHz
B 1.00 339, 900. 00 339, 900
AR L NOY
% 2.00 608, 454. 00 12,169
= 5 YE%HEN :0.88km2 705, 253. 00 620, 623
&S :6
B MEEERK 1LY
£ 7 R - BAKTiE By = B Of & | W E B =
BlEFEHED
A 4.70 54, 600. 00 256, 620
B S HER
A 15.70 47,100. 00 739, 470
B = H AR
A 14.20 36, 900. 00 523, 980
AR =L NOY
% 4.00 1, 520, 070. 00 60, 802
= 5 1YE%HeH - 1.00K 1, 580, 872. 00 1, 580, 872




Rifiz -/ \v7r—o

HR6LF B = ith i (P I 0 X)) iR (—10m) TR RIE

&5 .17
2 . BATHE EED)
£ 7 R - KT By 2 B Of € # B &
BlEFEHED
A 1.00 54, 600. 00 54, 600
B S HER
A 0.50 47,100. 00 23, 550
= it 1YEZHEH - 1.00[E 78, 150. 00 78, 150
%5 :8
B =RRBE EED)
£ 7 R - KT By 2 B Of € # B =
BIEFEHED
A 0.50 54, 600. 00 217,300
B S HER
A 0.50 47,100. 00 23, 550
= it 1YEZHER - 1.00[E 50, 850. 00 50, 850
59
B EBBERR =1
£ 7 R - KT By 2 B Of € # B =
XBRRRE
= 1.00 110, 000. 00 110, 000
= it 1YE%HeH - 1.00K 110, 000. 00 110, 000
H5:10
2% EIEERE =1
£ 7 R - BAKTiE By 2 B Of € # B =
EIXREHRE E-RYIUTRE
I 1.00 45, 000. 00 45,000
= it 1YE%HeH - 1.00K 45, 000. 00 45,000




